NJJd

pue|o ajqe) sseig adAl H-V

A37

A Type Brass Cable Gland

L3
i ]
D1 —
o
Lock Nut O-Ring Body Claw Seal SealingNut
A c D F
: : : Thread:Metric/PG/NPT/G(PF)
:M/PG/NPT/G(PF) :CE,EX,ROHS Material:Brass,nickel plated
A26 ~50°C  150°C P68 Claw:PA Seal/Oring:silicon rubber
Certificates:CE,EX,ROHS
Tempe.range:-50°C to +150°C
@ @ Q @ Protection:IP68
2fL Hole 3L Hole 44L Hole 5fL Hole 6fLHole 7fLHole 1  Flathole )
/Unitmm
X
Item No. Cable Cable Thread Joint Spanner
+
M PG NPT g e Rgee LN Dhehcr s AF
A-M12X1.5-H2-2 A-PG7-H2-2 A-NPT1/4-H2-2 A-G1/4-H2-2 2X2 0.5-2 6 <25 19 14/14
A-M12X1.5-H3-2 A-PG7-H3-2 A-NPT1/4-H3-2 A-G1/4-H3-2 3X2 0.5-2 6 <25 19 14/14
A-M12X1.5-H4-1 A-PG7-H4-1 A-NPT1/4-H4-1 A-G1/4-H4-1 4X1 0.3-1 6 <25 19 14/14
A-M16 X 1.5-H2-3 A-PG9-H2-3 A-NPT3/8-H2-3 A-G3/8-H2-3 2X3 1-3 7 <3.5 20 18/18
A-M16 X 1.5-H3-3 A-PG9-H3-3 A-NPT3/8-H3-3 A-G3/8-H3-3 3X3 1-3 7 <3.5 20 18/18
A-M16 X 1.5-H4-2 A-PG9-H4-2 A-NPT3/8-H4-2 A-G3/8-H4-2 4X2 1-2 7 <3.5 20 18/18
A-M16X1.5-H5-1 A-PG9-H5-1 A-NPT3/8-H5-1 A-G3/8-H5-1 5X1 0.3-1 7 <3.5 20 18/18
A-M20 X 1.5-H2-4 A-PG13.5-H2-4 A-NPT1/2-H2-4 A-G1/2-H2-4 2X4 2-4 8 <45 23 22/22
A-M20 X 1.5-H3-4 A-PG13.5-H3-4 A-NPT1/2-H3-4 A-G1/2-H3-4 3X4 2-4 8 <45 23 22/22
A-M20X1.5-H4-3 A-PG13.5-H4-3 A-NPT1/2-H4-3 A-G1/2-H4-3 4X3 1-3 8 <45 23 22/22
A-M20 X 1.5-H5-2 A-PG13.5-H5-2 A-NPT1/2-H5-2 A-G1/2-H5-2 5X2 0.5-2 8 <45 23 22/22
A-M20 X 1.5-H6-1 A-PG13.5-H6-1 A-NPT1/2-H6-1 A-G1/2-H6-1 6X1 0.3-1 8 <45 23 22/22
A-M25 X 1.5-H2-5 A-PG16-H2-5 A-NPT3/4-H2-5 A-G3/4-H2-5 2X5 3-5 9 <45 23 28/24
A-M25X1.5-H3-5 A-PG16-H3-5 A-NPT3/4-H3-5 A-G3/4-H3-5 3X5 3-5 9 <45 23 28-24/24
A-M25 X 1.5-H4-4 A-PG16-H4-4 A-NPT3/4-H4-4 A-G3/4-H4-4 4X4 2-4 9 <45 28 28/24
A-M25 X 1.5-H5-3 A-PG16-H5-3 A-NPT3/4-H5-3 A-G3/4-H5-3 5X3 1-3 9 <45 23 28/24
A-M25 X 1.5-H6-2 A-PG16-H6-2 A-NPT3/4-H6-2 A-G3/4-H6-2 6X2 0.5-2 9 <45 23 28/24
A-M32X1.5-H2-7 A-PG21-H2-7 A-NPT3/4-H2-7 A-G3/4-H2-7 2X7 4-7 9 <4.5 23 34-30/30
A-M32X1.5-H3-6 A-PG21-H3-6 A-NPT3/4-H3-6 A-G3/4-H3-6 3X6 3-6 9 <45 23 34-30/30
A-M32X1.5-H4-6 A-PG21-H4-6 A-NPT3/4-H4-6 A-G3/4-H4-6 4X6 3-6 9 <45 23 34-30/30
A-M32X1.5-H5-4 A-PG21-H5-4 A-NPT3/4-H5-4 A-G3/4-H5-4 5X4 2-4 9 <45 23 34-30/30
A-M32X1.5-H6-3 A-PG21-H6-3 A-NPT3/4-H6-3 A-G3/4-H6-3 6X3 1-3 9 <45 23 34-30/30
A-M32X1.5-H7-2 A-PG21-H7-2 A-NPT3/4-H7-2 A-G3/4-H7-2 7X2 0.5-2 9 <45 23 34-30/30
A-M40 X 1.5-H2-8 A-PG29-H2-8 A-NPT1-1/4-H2-8 A-G1-1/4-H2-8 2X8 5-8 1 <55 32 44-40/40
A-M40 X 1.5-H3-8 A-PG29-H3-8 A-NPT1-1/4-H3-8 A-G1-1/4-H3-8 3X8 5-8 11 <55 32 44-40/40
A-M40 X 1.5-H4-8 A-PG29-H4-8 A-NPT1-1/4-H4-8 A-G1-1/4-H4-8 4X8 5-8 1 <55 32 44-40/40
A-M40 X 1.5-H5-6 A-PG29-H5-6 A-NPT1-1/4-H5-6 A-G1-1/4-H5-6 5X6 3-6 11 <55 32 44-40/40
A-M40 X 1.5-H6-5 A-PG29-H6-5 A-NPT1-1/4-H6-5 A-G1-1/4-H6-5 6X5 3-5 1 <55 32 44-40/40
A-M40 X 1.5-H7-5 A-PG29-H7-5 A-NPT1-1/4-H7-5 A-G1-1/4-H7-5 7X5 3-5 11 <55 32 44-40/40
A-M50 X 1.5-H2-12 A-PG36-H2-12 A-NPT1-1/2-H2-12 A-G1-1/2-H2-12 2X12 22-32 1 <55 32 54-50/50
A-M50X1.5-H3-11 A-PG36-H3-11 A-NPT1-1/2-H3-11 A-G1-1/2-H3-11 3X11 22-32 11 <5.5 32 54-50/50
A-M50 X 1.5-H4-9 A-PG36-H4-9 A-NPT1-1/2-H4-9 A-G1-1/2-H4-9 4X9 22-32 11 <55 32 54-50/50
A-M50 X 1.5-H5-8 A-PG36-H5-8 A-NPT1-1/2-H5-8 A-G1-1/2-H5-8 5X8 22-32 11 <55 32 54-50/50
A-M50 X 1.5-H6-7 A-PG36-H6-7 A-NPT1-1/2-H6-7 A-G1-1/2-H6-7 6X7 22-32 1 <55 32 54-50/50
A-M50X1.5-H7-7 A-PG36-H7-7 A-NPT1-1/2-H7-7 A-G1-1/2-H7-7 7X7 22-32 1 <5.5 32 54-50/50
A-M20 X 1.5-W4H10 A-PG13.5-W4H10 A-NPT1/2-W4H10 A-G1/2-W4H10 1 4X10 8 <45 23 22/22
A-M20 X 1.5-W3H11 A-PG13.5-W3H11 A-NPT1/2-W3H11 A-G1/2-W3H11 1 3X11 8 <45 23 22/22
A-M25X1.5-W6H13 A-PG16-W6H13 A-NPT3/4-W6H13 A-G3/4-W6H13 1 6X13 9 <45 23 28/24
A-M32X1.5-W5H17 A-PG21-W5H17 A-NPT3/4-W5H17 A-G3/4-W5H17 1 5X17 9 <45 23 34-30/30
A-M40 X 1.5-W8H25 A-PG29-W8H25 A-NPT1-1/4-W8H25  A-G1-1/4-W8H25 1 8X25 1 <55 32 44-40/40
A-M50 X 1.5-W6H30 A-PG36-W6H30 A-NPT1-1/2-W6H30  A-G1-1/2-W6H30 1 6X30 11 <55 32 54-50/50
A-M63 X 1.5-W9H43 A-PG48-W9H43 A-NPT2-W9H43 A-G2-W9H43 1 9X43 18 <125 38 68-64/64

WWW.RCCN.COM.CN






